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£ 1 a Define following terms : 5

£ i) Total Turing Test

8 i) Logical positivism ; ¢

g iii) Tractable problems™ > ¢ §
55 iv) Decision Theory®.
&< v) Neurons. (05 Marks)
_E"E“ b. For an automotive taxi" drlver example, write wor mg of goal agents and utility agents with
=3 necessary dlagrams [}\Io explanatlons] v’ (10 Marks)
e 0 c. : (05 Marks)
£4&
S <t
2 g 2 a
§ & ,,‘.t,
R i) Advent of DENDRAL
P g i) Emergence of Intelligent Agents. (05 Marks)
58 b. Differentiate following types of agents :
RS i) Semi— dynamic W@mdynamlc
o T y
3 1)) Episodic V/s sequentlal &
I g iii) Deterministic V/s Stochastic b, & ; (05 Marks)
g2 c. Write PEAS spemﬁcatlon for Tomato C1a551ﬁcat10n Syste: (10 Marks)
> 5
T e
23
& & 3 a (05 Marks)
g = b. “squares P and Q is to the bottom of P.
£ 3 (10 Marks)
s =
83
> U
g &

>
&2
o o
2 (05 Marks)
iz
3
5
& 4 a. Differentiate the' fa}clowmg
- 1) Goal form;mv ation V/s Problem solution

1) Toy problem V/s Real world problem. ~ (05 Marks)
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b. Demonstrate Separation property of GRAPH SEARCJ":' on the following rectangular grid

[At least 3 sequences]

(05 Marks)
€. For graph shown in Fig reach G from A, Also show frontier
at each step [Depth Fire (10 Marks)

Module-3*
a. For following Maph demonstrate the working of Greedy best first search. Heuristics
Arch inside brackiets of each node

Source Node = P
Goal Node =S

(10 Marks)
(05 Marks)
(05 Marks)
Heurists

A 5

B 3

C 4

D 2

E 6

F 3

G 1

H 0

Fig Q6(a)
Source = A, Goal =

(10 Marks)
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Define syntax, semantics, model, satisfaction and entallmen‘t logic. (05 Marks)

Explain the five commonly used logical connect1v1ty in prop081t10na1 logic. (05 Marks)
Module-4 ..

Explain formal languages and their ontologlcgl and eplstemologlcal commitments. (05 Marks)

(10 Marks)
football iv) Only one

W

1) All blI‘dS ﬂy i) Every man respect hlS parent 1i1) Some boys play

(05 Marks)

Write and explain the unificatio; (05 Marks)
Differentiate Forward chaining,and Backward chaining | for the example : “As per the law,
it is crime for America to,sell weapons to hostile natlons Country A, enemy of America, has
some missiles, and all. nissiles were sold to Robert, Who is an American citizen”. Proye that
“Robert is criminal” using Forward chamlng ( (10 Marks)
Write and explalnprocedure for conversion to conjunctive normal form for first order logic.

(05 Marks)

, (10 Marks)
Expl‘?ﬁ \the method for probﬁbﬂlstlc inference usmg various concepts of probability
distribution. (D (10 Marks)
Explain the following wit ~examples

1) Absolute mdependence (10 Marks)

Using axioms of probablhty Prove thatiany probability dlétrlbutlon of discrete random
variable must sum to 1. Further, pro (10 Marks)




